CHNT Low Voltage VT & AVR & CT & PT
Current Transformer
2. Technical data

2.1 Secondary current Isn: 5A

2.2 Rated voltage Ue: 660 V

2.3 Frequency: 50/60 Hz

2.4 Instrument security factor (FS): 10

e~ S 2.5 Operating temperature: -5°C to +40°C, humidity <80%
a * 2.6 Altitude: <1000m
e 2.7 Standards: IEC 60044-1
e y %}f&fﬁ”‘{n@ﬁﬂ 2.8 Installation type: Busbar or plate fixing

3. Type designation
BH(SDH)-0.66 - O 11

Category number

Width of window for bars

BH(SDH)-0.66 II
Current Transformer
1. Application

Current transformer series

To be used in combination with measurement instruments:
ammeters, watt-hour meters,
measurement units, control relays, etc.
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4. Technical data

Rated output(VA)
Transformation Accuracy class Number of Overall and installing
Model : turns through . .
ratio(lpn/Isn) (A) iron core dimensions (mm)
1 0.5 0.5S 0.2
150/5 5 2.5 1 1
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200 o | . 1 @E [a]
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. 250/5 5 5 1
e » 300/5 5 5 1 g
A 400/5 5 5 1
Y ? = F1
- 500/5 10| 10] 5 | s 1 HIREINE
600/5 10 10 5 5 1 a2
BH(SDH)-0.66 40 I 750/5 10 10 10 10 1 785 46
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Low Voltage VT & AVR & CT & PT
Current Transformer

CHNT

Rated output(VA)

Transformation Accuracy class 4 NumtI;er th Overall and installing
Model ratio(Ipn/Isn) (A) urns throug dimensions (mm)
Iron core
1 0.5 | 055 | 0.2
150/5 2.5 1
200/5 5 5 1
250/5 5 5 1 1 éj:’—@_] m
300/5 5 5 1 ]
400/5 5 5 1 S
500/5 10 | 10 | s 5 1 7l e
600/5 10 | 10 5 5 1
(1]
750/5 10 | 10 | 10 | 10 1 ok L
800/5 10 | 10 | 10 | 10 1 5
54
1000/5 10 | 10 | 10 | 10 1 87 46
BH(SDH)-0.66 50 1T
1200/5 20 | 20 | 20 | 20 1
300/5 5 5 1
400/5 5 5 1 | e (]
500/5 10 10| s 5 1 sl e
¢ 600/5 10 | 10 | s 5 1 o
750/5 10 | 10 | 10 | 10 1 jE
| 800/5 10 | 10 | 10 | 10 1
b | - (O ==] ] cH
i 1000/5 10 | 10 | 10 | 10 1 ! Fo—
1200/5 20 | 20 | 20 | 20 1 = 48
BH(SDH)-0.66 60 II 1500/5 20 | 20 | 20 | 20 1
600/5 10 | 10 1 _
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800/5 10 | 10 | 10 | 10 1 1.
1000/5 10 | 10 | 10 | 10 1 1
[
1200/5 20 | 20 | 20 | 20 1 °|, e
1500/5 20 20 20 20 1 \ﬁ%»‘
BH(SDH)-0.66 80 11 2000/5 20 | 20 | 20 | 20 1 22 =
1000/5 10 10 10 10 1 PO e ) R [al
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1200/5 20 | 20 20 | 20 1 . ‘
: 1500/5 20 | 20 | 20 | 20 1 k= ‘
& T o, @ _le
. - 2000/5 20 | 20 | 20 | 20 1 7 ]
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BH(SDH)-0.66 100 II 2500/5 40 40 40 40 1 140 50
1000/5 10 | 10 | 10 | 10 1 — =t &
G 1200/5 20 | 20 | 20 | 20 1 e elilde
# ““‘"“" 1500/5 20 | 20 | 20 | 20 1 )
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T 2500/5 40 40 40 40 1 50|
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3000/5 40 40 40 40 1 | B |
BH(SDH)-0.66 120 II 4000/5 40 40 40 40 1 169 8
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